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1. What;
LIS the running time of the followi 2 i
for(i= O;i<n:i++ ) s ) :g, Ing code fragment? Explain your answer.

| 3
for(j=0;j<i* i;j++ | O( 4
—
| ) 2 Flaal Yy
2. Given the following function, write its running time &s function of Big O.
int Func(int A[], int n) {
if(n<= 1)
return 0;

else
return Func(A,n/2) + 6 * Func(A,n/2);
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Question #2 [20 pts] :on that finds the first
Assume you have two linked lists that share some nodes, write a function
common node.
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Question #4 [20 pts]

Write a function that returns 1 if 5 given Binary Tree is SumTree else returns 0.

A SumTree is a Binary Tree w i
il bbb here the value of a node is equal to the sum of all nodes in its left

An empty tree is SumTree and the sum of an emply tree can be considered as 0.

-?J:T node s l50 considered as Sumree, .
Int Sun: F ‘g'g'lﬁ a'qfx)amire of SumTree. )
iF(T == Mull) B A
] f{']rg:/\iﬁ'@fiz Dl 4,&('!_"..7 pight ==MuT)
Chayn T -ydate ) e -y

el${§ __\_'\"_,7010{0-

ye fuprt Cuunl T-»*:\e@ L)

erwwvn A .
-l \Q?-t\
g e ) = Tadeka)
| (IEE sw(‘r—ﬂe?’ﬂ+Sum(T-7d?.\qMﬂ 2

e ruyv ’lj

R\se .
\"t".‘U-Nﬂ (@] )

rAwy ©)

]

Scanned with CamScanner



Question #3 [20 pts]

A) Consider the usual algorithm to convert an infix expression to a postfix expressiin. SUDpOfe_
that you have read the i input characters during a conversion and that the stack now contains

these symbols: | * |

Now, suppose that you read and process the (i+1)* symbol of the input. Draw the stack for each

separate case where the symbol is:

A left parenthesis: ( A minus sign: - A division sign: /

<3 4
w3

B) Write a function that takes two sorted stacks R and Y (min on top), then create another stack D
that merges the two stacks and should be also sorted (min on top).
You are allowed to use only the stack operations such as pop, push, size and top. No other ‘
éa i)
ata structure such as arrays are allowed, You are allowed to use stacks only \t(\ Lis EV*?“ (R) ‘
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Question #5 [20 pts]

A) Assume you have the tree below; write its post order traversal. [10]

Post order | +—
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B) Consider the following AVL tree below.[10]
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i. Insert a new node with a value of 8 into an AVL tree, show all steps.

g0 o
/30\ / /3 ™
1o w$ - - Lo us
"y = w/ y = £ {3
5B LAE-H & o {>

5 Daulle ‘

i g\ﬁ A Q.\_'\ - S :
ii. Delete the root value from the Tree you have obtained from the previous step, show all

steps. L‘L
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